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1 cf&/fO{ ;/:jtL p=df=lj= x|jfs" 031001151 C k|e'/fd *f¤uL k"= lg=df=lz= :yfoL låtLo 046.09.01 2062.01.09 30500 3 3 3051 33551 3355 200 1000 38106 152424 152424

2 cf&/fO{ ;/:jtL p=df=lj= x|jfs" 031001151 C vu]Gb|s'df/ l;jfsf]^L k"= lg=df=lz= :yfoL låtLo 048.04.01 2065.11.02 30500 2 3 3051 33551 3355 200 1000 38106 152424 152424

4 cf&/fO{ ;/:jtL p=df=lj= x|jfs" 031001151 C ljs]Gb| *f¤uL k"= lg=df=lz= :yfoL t[tLo 063.06.01 23500 2 3 2349 25849 2585 200 1000 29634 118536 118536

cf&/fO{ ;/:jtL p=df=lj= x|jfs" 031001151 C Pªkm'ªdf lnDa' k"= lg=df=lz= :yfoL t[tLo 23500 1 2 1566 25066 2507 200 1000 28773 115090 115090

5 cf&/fO{ ;/:jtL p=df=lj= x|jfs" 031001151 C lahodfg >]]i& k'= k|fylds :yfoL låtLo 2042.04.32 2068.08.05 23500 3 4 3132 26632 2663 200 1000 30495 121981 121981

6 cf&/fO{ ;/:jtL p=df=lj= x|jfs" 031001151 C bnaxfb'/ lnDa" k'= k|fylds :yfoL låtLo 2063.06.01 2074.8.25 23500 3 2349 25849 2585 200 1000 29634 118536 94828 a('jf ePsf] 

cf&/fO{ ;/:jtL p=df=lj= x|jfs" 031001151 C bnaxfb'/ lnDa" k'= k|fylds :yfoL t[tLo 2063.06.01 22170 3 2217 24387 2439 200 1000 28026 112103 22420

7 cf&/fO{ ;/:jtL p=df=lj= x|jfs" 031001151 C k|fylds c:yfoL l/St

8 cf&/fO{ ;/:jtL p=df=lj= x\jfs" 031001151 C xl/ k|;fb sfsL{ k'= k|fylds :yfoL låtLo 2040.9.1 2062.2.20 23500 3 4 3132 26632 2663 200 1000 30495 121981 121981

9 cf&/fO{ ;/:jtL p=df=lj= x|jfs" 031001151 C >L &udfof¤ vqL d= k|fylds c:yfoL t[tLo 2053.01.30  22170 0 22170 0 0 1000 23170 92680 92680

10 cf&/fO{ ;/:jtL p=df=lj= x|jfs" 031001151 C zflGtnf ;'Aaf -v]jfxfª_ d= k|fylds /fxt 2064.05.30 22170 0 22170 0 0 1000 23170 92680 92680

11 cf&/fO{ ;/:jtL k|f=lj= x\jfs' 14A wgjxfb'/ u'?é k'= k|fylds :yfoL låtLo 2048.10.24 2068.08.05 23500 3 4 3132 26632 2663 200 1000 200 30695 122781 122781

cf&/fO{ ;/:jtL k|f=lj= x\jfs' 14A ;+uLtf sf]O/fnf k'= k|fylds c:yfoL t[tLo 073.8.29 22170 22170 1000 23170 92680 92680

cf&/fO{ ;/:jtL k|f=lj= x\jfs' ;'/]Gb| lnDa' k'= k|fylds c:yfoL t[tLo 2074.10.14 22170 0 22170 1000 23170 36300 36300
2074.10.14df 

lgo'lSt

14 cf&/fO{ hnl;+x k|f=lj= x\jfs' 16 lxdnfn l;jfsf]^L k'= k|fylds :yfoL låtLo 2050.05.01 2068.12.30 23500 3 4 3132 26632 2663 200 1000 30495 121981 121981

15 cf&/fO{ hnl;+x k|f=lj= x\jfs' 16 *Dj/l;+ tfdfª k'= k|fylds :yfoL låtLo 2046.09.10 2068.12.30 23500 3 4 3132 26632 2663 200 1000 200 30695 122781 122781

16 cf&/fO{ hnl;+x k|f=lj= x\jfs" 16 e'jg (sfn k'= k|fylds :yfoL t[tLo 2071.05.27 22170 1 2 1478 23648 2365 200 1000 27213 108851 108851

17 cf&/fO{ hnl;+x k|f=lj= x\jfs" 16 l^sfb]jL u'?ª d= k|fylds /fxt 2065.05.03 22170 0 22170 0 0 1000 23170 92680 92680

18 cf&/fO{ nIdL lg=df=lj=x\jfs' 15 uf]kfn *fuL k|fylds c:yfoL t[tLo 073.8.12 22170 22170 1000 23170 92680 92680

19 cf&/fO{ nIdL lg=df=lj=x\jfs' 15 g/]z s'df/ u'?ª k' k|fylds c:yfoL t[tLo 2067.03.31 22170 0 22170 0 0 1000 23170 92680 92680

20 cf&/fO{ nIdL lg=df=lj= x\jfs" 15 *Da/ O:jf]xfª lnDa" k'= k|fylds :yfoL t[tLo 2071.05.27 22170 1 2 1478 23648 2365 200 1000 27213 108851 108851

21 cf&/fO{ nIdL lg=df=lj=x\jfs' 15 k|]dgf/fo)f rDnfufO{ k'= k|fylds :yfoL låtLo 2050.05.01 2068.08.05 23500 3 4 3132 26632 2663 200 1000 30495 121981 121981

22 cf&/fO{ nIdL lg=df=lj=x\jfs' 15 >L z'lznf lyªnfj" d= k|fylds c:yfoL t[tLo 2052.03.01 22170 0 22170 0 0 1000 300 23470 93880 93880

23 cf&/fO{ nIdL lg=df=lj=x\jfs' 15 b'uf{b]jL *fuL d= k|fylds /fxt 2065.11.14 22170 0 22170 0 0 1000 23170 92680 92680

24 cf&/fO{ hgtf k|f=lj= x\jfs' 031000931 C rs|jxfb'/ u'?é k'= k|fylds :yfoL låtLo 2046.09.13 2068.08.05 23500 3 4 3132 26632 2663 200 1000 200 30695 122781 122781

25 cf&/fO{ hgtf k|f=lj= x\jfs' 031000931 C ledfh'{g l;^f}nf k'= k|fylds :yfoL t[tLo 2060.11.05 22170 3 4 2956 25126 2513 200 1000 28839 115354 115354

26 cf&/fO{ hgtf k|f=lj= x\jfs" 031000931 C OGb|dfof u'?ª d= k|fylds c:yfoL t[tLo 073.1.30 22170 0 22170 1000 23170 92680 92680

27 cf&/fO{ hgtf k|f=lj= x\jfs" 031000931 C OlGb/f lzjfsf]^L d= k|fylds /fxt 2066.03.19 22170 0 22170 0 0 1000 23170 92680 92680

28 cf&/fO{ xfª\ofSdf k|f=lj= x\jfs' 2131 ofdaxfb'/ lyªnfa" k'= k|fylds :yfoL t[tLo 2046.09.10 22170 3 4 2956 25126 2513 200 1000 0 28839 115354 115354

29 cf&/fO{ xfª\ofSdf k|f=lj= x\jfs' 2131 /fhs'df/ ofS;f] k'= k|fylds /fxt 2065.05.02 22170 0 22170 0 0 1000 200 23370 93480 93480

30 cf&/fO{ k~rsGof k|f=lj=x\jfs OGb|gf/fo)f *f+uL k'= k|fylds /fxt 2065.05.04 22170 0 22170 0 0 1000 200 23370 93480 93480

31 cf&/fO{ k~rsGof k|f=lj=x\jfs sdn Oªgfd k'= k|fylds /fxt 2065.05.04 22170 0 22170 0 0 1000 23170 92680 92680

32 cf&/fO{ lqdf]xg p=df=lj= ;+qmlGtjhf/ 031000061 C vu]Gb| k|;fb vqL k"= lg=df=lz= :yfoL t[tLo 2074.03.25 23500 0 23500 2350 200 1000 27050 108200 108200
2074.10.09 df 

xflh/
33 cf&/fO{ lqdf]xg p=df=lj= ;+qmlGtjhf/ 031000061 C ^°k|;fb x'dfufO{+ k"= lg=df=lz= :yfoL t[tLo 061.01.27 23500 3 4 3132 26632 2663 200 1000 30495 121981 121981

34 cf&/fO{ lqdf]xg p=df=lj= ;+qmlGtjhf/ 031000061 C >L z'idf yklnof d= lg=df=lz= c:yfoL t[tLo 052.12.30 23500 23500 0 0 1000 24500 98000 98000

35 cf&/fO{ lqdf]xg p=df=lj= ;+qmlGtjhf/ 031000061 C /d]zk|;fb (sfn k'= k|fylds :yfoL låtLo 2050.05.01 2067.07.19 23500 3 4 3132 26632 2663 200 1000 30495 121981 121981

36 cf&/fO{ lqdf]xg p=df=lj= ;+qmlGtjhf/ 031000061 C wgs'df/L l;^f}nf d= k|fylds :yfoL låtLo 2046.09.01 2066.06.30 23500 3 4 3132 26632 2663 200 1000 30495 121981 33544
2074.09.04 df 

/flhgfdf
38 cf&/fO{ lqdf]xg p=df=lj= ;qmflGtjhf/ 031000061 C k'gd /fO{ d= k|fylds :yfoL t[tLo 2071.05.27 22170 1 2 1478 23648 2365 200 1000 27213 108851 108851

39 cf&/fO{
lqdf]xg p=df=lj= ;+qmflGtjhf/ 

031000061 C dbg u'?ª k'= k|fylds c:yfoL t[tLo 2074.10.13 22170 0 22170 1000 23170 92680 37072
2074.10.13 df 

lgo'lSt
40 cf&/fO{ lqdf]xg p=df=lj= ;+qmflGtjhf/ 031000061 C ;'sdfg tfdfª k'= k|fylds :yfoL t[tLo 2071.05.27 22170 1 2 1478 23648 2365 200 1000 27213 108851 108851
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cf&/fO{
lqdf]xg p=df=lj= ;+qmflGtjhf/ 

031000061 C /Ltf sflnsf]^] d= k|fylds c:yfoL t[tLo 2074.5.16 22170 0 22170 1000 23170 92680 172775
ut rf}dfl;ssf] ? 

80095. ;d]t
41 cf&/fO{ lqdf]xg p=df=lj= ;+qmlGtjhf/ 031000061 C >L z'lznf l;^f}nf d= k|fylds c:yfoL t[tLo 2057.03.01 22170 0 22170 0 0 1000 23170 92680 92680

43 cf&/fO{ s[i)f p=df=lj=*f¤*fufp¤ 031001321 C c~hgf kGwfs d= lg=df=lz= :yfoL t[tLo 2072.10.29 23500 0 1 783 24283 2428 200 1000 27911 111645 111645

cf&/fO{ s[i)f p=df=lj=*f¤*fufp¤ 031001321 C kz'klt zfx k"= lg=df=lz= :yfoL t[tLo 2074.03.25 23500 0 0 23500 2350 200 1000 27050 108200 108200

44 cf&/fO{ s[i)f p=df=lj=*f¤*fufp¤ 031001321 C >L ^Lsf/fd e)*f/L k"= lg=df=lz= c:yfoL t[tLo 054.05.04 23500 23500 0 0 1000 24500 98000 98000

45 cf&/fO{ s[i)f p=df=lj=*f*fufp+ 031001321 C wdf{gGb clwsf/L k"= lg=df=lz= /fxt 2068.05.15 23500 23500 0 0 1000 24500 98000 98000

46 cf&/fO{ s[i)f p=df=lj=*f¤*fufp¤ 031001321 C xf]dgfy  uf}td k'= k|fylds :yfoL låtLo 2046.08.27 2068.08.05 23500 3 4 3132 26632 2663 200 1000 30495 121981 121981

47 cf&/fO{ s[i)f p=df=lj= *f+*fufp ;qmflGtahf/ 031001321 C tf/fb]jL e)*f/L d= k|fylds :yfoL t[tLo 2071.05.27 22170 1 2 1478 23648 2365 200 1000 27213 108851 108851

48 cf&/fO{ s[i)f p=df=lj=*f¤*fufp¤ 031001321 C em'dfb]jL rf]ª\jfé d= k|fylds :yfoL låtLo 2050.05.01 2068.08.05 23500 3 4 3132 26632 2663 200 1000 30495 121981 121981

49 cf&/fO{ s[i)f p=df=lj=*f¤*fufp¤ 031001321 C dx]Gb|/fh e)*f/L k'= k|fylds :yfoL låtLo 2048.04.01 2064.01.23 23500 3 4 3132 26632 2663 200 1000 30495 121981 121981

50 cf&/fO{ s[i)f p=df=lj=*f¤*fufp¤ 031001321 C t]hjxfb'/ kmf]Djf] k'= k|fylds :yfoL låtLo 2048.04.01 2062.02.13 23500 2 3 2349 25849 2585 200 1000 29634 118536 118536

51 cf&/fO{ s[i)f p=df=lj=*f¤*fufp¤ 031001321 C pdgfyf e)*f/L k'= k|fylds :yfoL låtLo 2063.06.01 2072.6.1 23500 1 2 1566 25066 2507 200 1000 28773 115090 115090
k'/fgfufp cfe"af^ 

;?jf

52 cf&/fO{ s[i)f p=df=lj=*f¤*fufp¤ 031001321 C ;Ltf l/dfn e)*f/L d= k|fylds /fxt 2066.04.18 22170 0 22170 0 0 1000 23170 92680 92680

54 cf&/fO{ /fd;+:s[t p=df=lj= v]nk'/ ;+qmflGtahf/ 4 k[oaxfb'/ vqL k"= lg=df=lz= :yfoL t[tLo 063.06.01 23500 2 3 2349 25849 2585 200 1000 29634 118536 118536

cf&/fO{ /fd;+:s[t p=df=lj= v]nk'/ ;+qmflGtahf/ 4 lg=df=lz=

cf&/fO{ /fd;+:s[t p=df=lj= v]nk'/ ;+qmflGtahf/ 4 afns[i)f e)*f/L k"= lg=df=lz= :yfoL t[tLo 2074.03.25 23500 0 0 23500 2350 200 1000 27050 108200 108200

56 cf&/fO{ /fd;+:s[t p=df=lj= v]nk'/ ;+qmflGtahf/ 4 >L k'Gok|;fb cof{n k"= lg=df=lz= c:yfoL t[tLo 053.01.07 23500 23500 0 0 1000 24500 98000 98000

59 cf&/fO{ /fd;+:s[t p=df=lj= v]nk'/ 4 ;Gtf]if uf}td k'= k|fylds :yfoL låtLo 2063.06.01 2069.11.04 23500 1 2 1566 25066 2507 200 1000 28773 115090 115090

60 cf&/fO{ /fd;+:s[t p=df=lj= v]nk'/ 4 ;'hg tfdf+ k'= k|fylds :yfoL t[tLo 2071.05.27 22170 1 2 1478 23648 2365 200 1000 27213 108851 108851

cf&/fO{ /fd;+:s[t p=df=lj= v]nk'/ clDasf k|;fb uf{td k' k|fylds c:yfoL t[tLo 2074.10.14 22170 0 22170 1000 23170 92680 36300
2074.10.14df 

lgo'lSt

cf&/fO{ /fd;+:s[t p=df=lj= v]nk'/ s[i)fdfof rf}xfg d= k|fylds c:yfoL t[tLo 2074.10.14 22170 0 22170 1000 23170 92680 36300
2074.10.14df 

lgo'lSt

61 cf&/fO{ /fd;+:s[t p=df=lj= v]nk'/ 4 lnnfb]jL ltlD;gf -uf}td_ d= k|fylds /fxt 2063.06.05 22170 0 22170 0 0 1000 23170 92680 92680

62 cf&/fO{ d"nkfgL k|f=lj= ;+s|flGtahf/ 031000011 C xl/k|;fb sfkm\n] k'= k|fylds :yfoL låtLo 2061.02.25 2069.03.15 23500 1 2 1566 25066 2507 200 1000 28773 115090 115090

63 cf&/fO{ d"nkfgL k|f=lj= ;+s|flGtahf/ 031000011 C k'Gok|;fb l;^f}nf k'= k|fylds :yfoL t[tLo 2060.10.28 22170 3 4 2956 25126 2513 200 1000 28839 115354 115354

64 cf&/fO{ d"nkfgL k|f=lj= ;+s|flGtahf/ 031000011 C t'n;fb]jL ;'Aaf d= k|fylds :yfoL låtLo 2048.04.01 2068.08.05 23500 3 4 3132 26632 2663 200 1000 200 30695 122781 122781

cf&/fO{ l;+xb]jL k|f=lj= ;+s|flGtahf/ 031000891 C s[i)Fs'df/ kmf]Daf] k'= k|fylds :yfoL t[tLo 2071.05.27 22170 1 2 1478 23648 2365 200 1000 27213 108851 108851

66 cf&/fO{ l;+xb]jL k|f=lj= ;+s|flGtahf/ 031000891 C vu]Gb|k|;fb lnDj" k'= k|fylds :yfoL låtLo 2050.05.01 2068.08.05 23500 3 4 3132 26632 2663 200 1000 200 30695 122781 122781

67 cf&/fO{ l;+xb]jL k|f=lj= ;+s|flGtahf/ 031000891 C ofdaxfb'/ lnDa" k'= k|fylds /fxt 2065.05.10 22170 0 22170 0 0 1000 23170 92680 92680

68 cf&/fO{ k'/fgfufp k|f=lj= ;+s|flGtahf/ 137 xl/k|;fb nfld%fg] k'= k|fylds :yfoL låtLo 2045.06.07 2064.01.23 23500 3 4 3132 26632 2663 200 1000 200 30695 122781 122781

69 cf&/fO{ k'/fgfufp k|f=lj= ;+s|flGtahf/ 137 g/]Gb| yfkf k'= k|fylds :yfoL t[tLo 2073.05.25  22170 1 2 1478 23648 2365 200 1000 27213 108851 54426
074df# 1 af^ ;?jf 

cfPsf] km]bfk af^

70 cf&/fO{ k'/fgfufp k|f=lj= ;+s|flGtahf/ 137 ladnf clwsf/L uf}td d= k|fylds /fxt 2066.10.25 22170 0 22170 0 0 1000 23170 92680 92680

71 cf&/fO{ k'/fgfufp k|f=lj= ;+s|flGtahf/ 137 kml)fGb|k|;fb uf}td k'= k|fylds /fxt 2063.10.07 22170 0 22170 0 0 1000 23170 92680 92680

72 cf&/fO{ lnl;j'ª k|f=lj= ;+qmflGtjhf/ 112 ;ldIff dfjf]xfª d= k|fylds :yfoL t[tLo 2071.05.27 22170 1 2 1478 23648 2365 200 1000 27213 108851 108851

73 cf&/fO{ lnl;j'ª k|f=lj= ;+qmflGtjhf/ 112 lb]g]z uf}td k'= k|fylds :yfoL t[tLo 2071.05.27 22170 1 2 1478 23648 2365 200 1000 27213 108851 108851

74 cf&/fO{ lnl;j'é k|f=lj= ;+s|flGtahf/ 112 >L uf]df ;](fO{ d= k|fylds c:yfoL t[tLo 2051.12.17 22170 0 22170 0 0 1000 23170 92680 92680

75 cf&/fO{ lnl;j'é k|f=lj= ;+s|flGtahf/ 112 >L t'n;f lnDa" d= k|fylds c:yfoL t[tLo 2065.05.09 22170 0 22170 0 0 1000 200 23370 93480 93480

76 cf&/fO{ k~rsGof k|f=lj=;qmflGtahf/ 2112 d]#/fh nDh]n ;fsL{ k'= k|fylds /fxt 2065.02.09 22170 0 22170 0 0 1000 200 23370 93480 93480

77 cf&/fO{ cf?af]^] k|f=lj=  ;+s|flGtahf/ 031000841 C xl/ZrGb| j'(fyf]sL k'= k|fylds :yfoL låtLo 2046.09.11 2068.08.05 23500 3 4 3132 26632 2663 200 1000 30495 121981 121981

cf&/fO{ cf?af]^] k|f=lj=  ;+s|flGtahf/ 031000841 C pdf clwsf/L d= k|fylds c:yfoL t[tLo 2073.10.13 22170 22170 1000 23170 92680 92680

78 cf&/fO{ cf?af]^] k|f=lj=  ;+s|flGtahf/ 031000841 C k'Gok|;fb e)*f/L k'= k|fylds :yfoL låtLo 2046.09.16 2062.02.13 23500 2 3 2349 25849 2585 200 1000 200 29834 119336 119336

80 cf&/fO{ u)f]z k|f=lj=  ;qmflGtahf/ 2218 >L v]ds'df/L kmf]Djf] d= k|fylds c:yfoL t[tLo 2058.06.23 22170 0 22170 0 0 1000 23170 92680 92680

81 cf&/fO{ u)f]z k|f=lj=  ;qmflGtahf/ 2218 ^+sgfy e)*f/L k'= k|fylds /fxt 2065.04.21 22170 0 22170 0 0 1000 200 23370 93480 93480

82 cf&/fO{ k|)ffdL p=df=lj= O{jf 031003121 S dgfxfª lnDa" k'= lg=df=lz= :yfoL t[tLo 2072.10.28 23500 0 1 783 24283 2428 200 1000 27911 111645 111645

83 cf&/fO{ k|)ffdL p=df=lj= O{jf 031003121 S >L O{Zj/Ls'df/ >]i& k"= lg=df=lz= c:yfoL t[tLo 2066.06.02 23500 23500 0 0 1000 24500 98000 98000

84 cf&/fO{ k|)ffdL p=df=lj= O{jf 031003121 S >L lbg]zs'df/L k|;fO{ d= lg=df=lz= c:yfoL t[tLo 052.12.30 23500 23500 0 0 1000 24500 98000 98000



85 cf&/fO{ k|)ffdL p=df=lj= O{jf 031003121 S >L ldqk|;fb ;ª\u|f}nf k"= lg=df=lz= c:yfoL t[tLo 2059.11.16 23500 23500 0 0 1000 24500 98000 98000

87 cf&/fO{ k|)ffdL p=df=lj= O{jf 031003121 S gj{bf yfkf d= k|fylds :yfoL låtLo 2050.06.01 2067.08.10 23500 3 4 3132 26632 2663 200 1000 30495 121981 121981

88 cf&/fO{ k|)ffdL p=df=lj= O{jf 031003121 S >L ;ld{nf l;njfn d= k|fylds c:yfoL t[tLo 2050.11.29 22170 0 22170 0 0 1000 23170 92680 92680

89 cf&/fO{ k|)ffdL p=df=lj= O{jf 031003121 S tf/f l;u' ;'Aaf d= k|fylds /fxt 2064.05.23 22170 0 22170 0 0 1000 23170 92680 92680

cf&/fO{ k|)ffdL p=df=lj= O{jf 031003121 S l*NnL/fd l#ld/] k'= k|fylds :yfoL t[tLo 2071.05.27 22170 1 2 1478 23648 2365 200 1000 27213 108851 108851

90 cf&/fO{ k|)ffdL p=df=lj= O{jf 031003121 S ljGbf yklnof d= k|fylds /fxt 2065.04.01 22170 0 22170 0 0 1000 23170 92680 92680

91 cf&/fO{ /Gbn lg=df=lj= O{jf 031001251 C hok|sfz Oª\gfd k"= lg=df=lz= :yfoL låtLo 048.04.01 065.08.01 30500 2 3 3051 33551 3355 200 1000 300 38406 153624 153624

92 cf&/fO{ /gbn lg=df=lj= Ojf 031001251 C cd[ts'df/ jf:tf]nf k"= lg=df=lz= /fxt 2068.10.17 23500 23500 0 0 1000 24500 98000 98000

93 cf&/fO{ /Gbn lg=df=lj= O{jf 031001251 C b]jLk|;fb rfkfuf¤O{ k'= k|fylds :yfoL låtLo 2060.10.28 2069.03.15 23500 2 3 2349 25849 2585 200 1000 29634 118536 118536

94 cf&/fO{ /Gbn lg=df=lj= O{jf 031001251 C jL/]]Gb| sGbéjf k'= k|fylds :yfoL låtLo 2050.05.01 2068.08.05 23500 3 4 3132 26632 2663 200 1000 30495 121981 83073 death 2074.10.22

95 cf&/fO{ /Gbn lg=df=lj= Ojf 031001251 C /ldnf l#ld/] d= k|fylds :yfoL t[tLo 2071.05.27 22170 1 2 1478 23648 2365 200 1000 27213 108851 108851

96 cf&/fO{ /Gbn lg=df=lj= Ojf 031001251 C d}gfs'df/L y]j] d= k|fylds /fxt 2064.06.07 22170 0 22170 0 0 1000 23170 92680 92680

97 cf&/fO{ /Gbn lg=df=lj= O{jf 031001251 C rGb|axfb'/ vjf; k'= k|fylds :yfoL låtLo 2045.04.10 2068.08.05 23500 3 4 3132 26632 2663 200 1000 30495 121981 121981

98 cf&/fO{ hgtf lg=df=lj=Ojf 031001171 C /fddfof Oªgfd d= lg=df=lz= /fxt 2066.02.18 23500 23500 0 0 1000 24500 98000 98000

100 cf&/fO{ hgtf lg=df=lj= O{jf 031001171 C t]hdfg sGbªjf k'= k|fylds :yfoL låtLo 2046.09.03 2068.12.30 23500 3 4 3132 26632 2663 200 1000 300 30795 123181 123181

101 cf&/fO{ hgtf lg=df=lj= Ojf 031001171 C /Tgaxfb'/ sflnsf]^] k'= k|fylds :yfoL t[tLo 2071.05.27 22170 1 2 1478 23648 2365 200 1000 27213 108851 108851

102 cf&/fO{ hgtf lg=df=lj= O{jf 031001171 C >L ;/:jtf sGbª\jf d= k|fylds c:yfoL t[tLo 2050.01.21 22170 0 22170 0 0 1000 23170 92680 92680

cf&/fO{ hgtf lg=df=lj= O{jf 031001171 C Ogb| k|;fb ;+u|f}nf k'= k|fylds c:yfoL t[tLo 2074.05.01 22170 0 22170 0 0 1000 23170 92680 92680

103 cf&/fO{ hgtf lg=df=lj= O{jf 031001171 C /]g'sf l/hfn d= k|fylds /fxt 2066.02.28 22170 0 22170 0 0 1000 23170 92680 92680

104 cf&/fO{ s]lnª lg=df=lj=Ojf 031001011 C l^sfb]jL Oªgfd d= lg=df=lz= /fxt 2063.10.15 23500 23500 0 0 1000 24500 98000 98000

105 cf&/fO{ s]lnª lg=df=lj=Ojf 031001011 C d'gfb]jL cfn]du/ d= lg=df=lz= /fxt 2065.05.06 23500 23500 0 0 1000 24500 98000 98000

106 cf&/fO{ s]lnª lg=df=lj= O{jf 031001011 C bnaxfb'/ Oª\gfd k'= k|fylds :yfoL låtLo 2048.04.01 2068.08.05 23500 3 4 3132 26632 2663 200 1000 300 30795 123181 123181

107 cf&/fO{ s]lnª lg=df=lj= O{jf 031001011 C sfnLaxfb'/ sGbª\jf k'= k|fylds :yfoL låtLo 2063.06.01 2074.8.25 23500 3 2349 25849 2585 200 1000 29634 118536 94828 a('jf ePsf] 

cf&/fO{ s]lnª lg=df=lj= O{jf 031001011 C sfnLaxfb'/ sGbª\jf k'= k|fylds :yfoL t[tLo 2063.06.01 22170 3 2217 24387 2439 200 1000 28026 112103 22420

108 cf&/fO{ s]lnª lg=df=lj= O{jf 031001011 C /fdaxfb'/ u'?é k'= k|fylds :yfoL t[tLo 2063.06.01 22170 2 3 2217 24387 2439 200 1000 28026 112103 112103

109 cf&/fO{ s]lnª lg=df=lj= O{jf 031001011 C >L clDjsf cfn] d= k|fylds c:yfoL t[tLo 2059.12.07 22170 0 22170 0 0 1000 23170 92680 92680

110 cf&/fO{ s]lnª lg=df=lj= O{jf 031001011 C >L l*NnLs'df/ af:tf]nf k'= k|fylds c:yfoL t[tLo 2063.07.27 22170 0 22170 0 0 1000 23170 92680 92680

111 cf&/fO{ s]lnª lg=df=lj= O{jf 031001011 C >L rs|jxfb'/ Oª\gfd k'= k|fylds c:yfoL t[tLo 2059.08.20 22170 0 22170 0 0 1000 23170 92680 92680

112 cf&/fO{ efg' lg=df=lj= O{jf 031001261 C cljGb|/fh k|;fO{ k'= k|fylds :yfoL låtLo 2039.03.20 2068.08.05 23500 3 4 3132 26632 2663 200 1000 30495 121981 121981

113 cf&/fO{ efg' lg=df=lj= O{jf 031001261 C cd[tjxfb'/ du/ k'= k|fylds :yfoL låtLo 2050.05.01 2068.08.05 23500 3 4 3132 26632 2663 200 1000 30495 121981 121981

114 cf&/fO{ efg' lg=df=lj= O{jf 031001261 C ljgf]bs'df/ k|;fO{ k'= k|fylds :yfoL låtLo 2046.09.01 2068.08.05 23500 3 4 3132 26632 2663 200 1000 300 30795 123181 123181

115 cf&/fO{ efg' lg=df=lj= O{jf 031001261 C >L ^]sjxfb'/ r'xfg k'= k|fylds c:yfoL t[tLo 2058.06.03 22170 0 22170 0 0 1000 23170 92680 92680

116 cf&/fO{ efg' lg=df=lj= O{jf 031001261 C ;'htf vkf+uL d= k|fylds c:yfoL t[tLo 2072.1.6 22170 0 22170 0 0 1000 23170 92680 92680

118 cf&/fO{ cu|fv] k|f=lj= Ojf 

13 cf&/fO{ cu|fv] k|f=lj= Ojf 133 >L ;Ltfb]jL aufn] d= k|fylds c:yfoL t[tLo 2067.03.31 22170 0 22170 0 0 1000 23170 92680 92680

cf&/fO{ cu|fv] k|f=lj= Ojf buf{ k|;fb e^\^/fO{ k' k|fylds c:yfoL t[tLo 2074.10.15 22170 0 22170 0 0 1000 23170 34755 34755

119 cf&/fO{ cu|fv] k|f=lj= Ojf 133 nfndfof lji^ k'= k|fylds c:yfoL t[tLo 073.1.24 22170 0 22170 1000 200 23370 93480 93480

120 cf&/fO{ lzj k|f=lj= Ojf 147

121 cf&/fO{ lzj k|f=lj= Ojf 147 zfGtf sGbª\jf d= k|fylds /fxt 2067.05.23 22170 0 22170 0 0 1000 200 23370 93480 93480

122 cf&/fO{ kf]v/L p=df=lj= %ft]('éf 11 nf]sgfy sGbª\jf k"= lg=df=lz= :yfoL låtLo 061.01.27 30500 3 4 4068 34568 3457 200 1000 39225 156899 156899

124 cf&/fO{ kf]v/L p=df=lj= %ft]('éf 11 xif{s'df/ Oª\gfd k"= lg=df=lz= :yfoL låtLo 048.04.01 068.08.05 30500 1 2 2034 32534 3253 200 1000 36987 147950 147950

125 cf&/fO{ kf]v/L p=df=lj= %ft]('éf 11 *dg ;fksf]^f k'= lg=df=lz= :yfoL t[tLo 2072.10.28 23500 0 1 783 24283 2428 200 1000 27911 111645 111645

cf&/fO{ kf]v/L p=df=lj= %ft]('éf 11 ;f]ds'df/ >]i& k'= lg=df=lz= :yfoL t[tLo 2074.03.25 23500 0 0 23500 2350 200 1000 27050 108200 108200

126 cf&/fO{ kf]v/L p=df=lj= %ft]('éf 11 cho s'df/ ofbj k'= lg=df=lz= c:yfoL t[tLo 2073.1.12 23500 23500 0 0 1000 24500 98000 98000

127 cf&/fO{ kf]v/L p=df=lj= %ft]('éf 11 s[i)fk|;fb pk|]tL k'= k|fylds :yfoL låtLo 2046.09.02 2064.01.23 23500 3 4 3132 26632 2663 200 1000 30495 121981 121981

128 cf&/fO{ kf]v/L p=df=lj= %ft]('éf 11 nIdLk|;fb sGbª\|jf k'= k|fylds :yfoL t[tLo 2060.10.28 22170 3 4 2956 25126 2513 200 1000 28839 115354 115354

129 cf&/fO{ kf]v/L p=df=lj= %ft]('éf 11 pl$ds'df/ sGbª\|jf k'= k|fylds :yfoL låtLo 2050.05.01 2068.08.05 23500 3 4 3132 26632 2663 200 1000 30495 121981 121981

130 cf&/fO{ kf]v/L p=df=lj= %ft]('ª\uf 11 ddtfb]jL cfªb]Da] d= k|fylds /fxt 2065.05.03 22170 0 22170 0 0 1000 23170 92680 92680

131 cf&/fO{ kf]v/L p=df=lj= %ft]('+uf xl/r/)f ld> k' k|fylds c:yfoL t[tLo 2072.3.2 22170 0 22170 0 0 1000 23170 92680 92680



cf&/fO{ ;/:jtL lg=df=lj= xf]*f 13 >L /fdfgGb rf}w/L k"= lg=df=lz= c:yfoL t[tLo 051.01.04 23500 23500 0 0 1000 24500 98000 98000

133 cf&/fO{ ;/:jtL lg=df=lj= xf]*f 13 k")f{xfª sGbª\jf k"= lg=df=lz= c:yfoL t[tLo 2073.2.16 23500 23500 0 0 1000 24500 98000 98000

134 cf&/fO{ ;/:jtL lg=df=lj= xf]*f 13 sljtf ofS;f] d= k|fylds c:yfoL t[tLo 2073.2.16 22170 0 22170 1000 23170 92680 92680

135 cf&/fO{ ;/:jtL lg=df=lj= xf]*f 13 dldtf sGbª\jf d= k|fylds :yfoL t[tLo 2071.05.27 22170 1 2 1478 23648 2365 200 1000 300 27513 110051 110051

136 cf&/fO{ ;/:jtL lg=df=lj= xf]*f 13 >L kfj{tf vflnª /fO{ d= k|fylds c:yfoL t[tLo 2065.11.29 22170 0 22170 0 0 1000 23170 92680 92680

137 cf&/fO{ ;/:jtL lg=df=lj= xf]*f 13 ;kgf cf]nL d= k|fylds /fxt 2065.05.08 22170 0 22170 0 0 1000 23170 92680 92680

138 cf&/fO{ ;/:jtL lg=df=lj= xf]*f s[i)f s'df/ df]Stfg k' lg=df=lz= :yfoL t[tLo 2072.11.2 23500 1 783 24283 2428 200 1000 27911 47449 47449 2074.10.11df lgo'lSt

cf&/fO{ gf/fof)f lg=df=lj= %ft]('éf 140 >L pdfgfy l;njfn k"= lg=df=lz= c:yfoL t[tLo 052.02.26 23500 23500 0 0 1000 24500 98000 98000

139 cf&/fO{ gf/fof)f lg=df=lj= %ft]('éf 140 >L rGb|jxfb'/ sGbª\jf k"= lg=df=lz= c:yfoL t[tLo 051.01.04 23500 23500 0 0 1000 24500 98000 98000

140 cf&/fO{ gf/fo)f lg=df=lj= %ft]('éf 140 b]jLk|;fb rfkfufO{ k'= k|fylds :yfoL låtLo 2039.03.31 2068.08.05 23500 3 4 3132 26632 2663 200 1000 300 30795 123181 123181

141 cf&/fO{ gf/fo)f lg=df=lj= %ft]('éf 140 /l~htf du/ d= k|fylds c:yfoL t[tLo 073.2.23 22170 0 22170 1000 23170 92680 92680

142 cf&/fO{ gf/fo)f lg=df=lj= %ft]('+uf 140 >L b]jLk|;fb sGbªjf k"= k|fylds c:yfoL t[tLo 22170 0 22170 1000 23170 92680 92680

143 cf&/fO{ gf/fo)f lg=df=lj= %ft]('+uf 140 km"ndfof nfdf d= k|fylds /fxt 2065.05.02 22170 0 22170 0 0 1000 23170 92680 92680

144 cf&/fO{ gf/fo)f lg=df=lj= %ft]('+uf 140 ;Ltf ahufO{ d= k|fylds /fxt 2065.10.24 22170 0 22170 0 0 1000 23170 92680 92680

cf&/fO{ lelqof k|f=lj= %ft]('éf 46 pdf l;jf d= k|fylds :yfoL t[tLo 2063.06.01 22170 2 3 2217 24387 2439 200 1000 200 28226 112903 112903

146 cf&/fO{ lelqof k|f=lj= %ft]('ª\uf 46 l*NnL/fd l#dL/] k"= k|fylds c:yfoL t[tLo 2072.3.10 22170 0 22170 1000 23170 92680 92680

147 cf&/fO{ lelqof k|f=lj= %ft]('ª\uf 46 ;f]dgfy cfrfo{ k"= k|fylds c:yfoL t[tLo 2074.05.16 22170 0 22170 1000 23170 92680 92680

cf&/fO{ gfu]Zj/L k|f=lj= %ft]('éf 127 s'n/fh b]jfg k'= k|fylds :yfoL låtLo 2046.09.02 2068.08.05 23500 3 4 3132 26632 2663 200 1000 30495 121981 121981

150 cf&/fO{ gfu]Zj/L k|f=lj= %ft]('éf 127 t]hdfg b]jfg k'= k|fylds :yfoL låtLo 2050.05.01 2068.08.05 23500 3 4 3132 26632 2663 200 1000 200 30695 122781 122781

153 cf&/fO{ gfu]Zj/L k|f=lj= %ft]('éf 127 ;'dGt b]jfg k'= k|fylds /fxt 2065.06.05 22170 0 22170 0 0 1000 23170 92680 92680

cf&/fO{ hgsNof)f k|f=lj= %ft]('ª\uf 19 ]x]dGt rfkfufO{+ k' k|fylds c:yfoL t[tLo 073.1.20 22170 0 22170 1000 23170 92680 92680

155 cf&/fO{ hgsNof)f k|f=lj= %ft]('éf 19 >L bfjfbf]h{] df]Qmfg k'= k|fylds c:yfoL t[tLo 2060.01.06 22170 0 22170 0 0 1000 200 23370 93480 93480

156 cf&/fO{ hgsNof)f k|f=lj= %ft]('éf 19 >L k|]ds'df/L rfkfufO{+ k'= k|fylds c:yfoL t[tLo 2065.10.17 22170 0 22170 0 0 1000 23170 92680 92680

cf&/fO{ ;/:jtL e~Hofª k|f=lj=%ft] 2487 s]z/l;+ sGbªjf k'= k|fylds :yfoL låtLo 2050.05.01 2068.08.05 23500 3 4 3132 26632 2663 200 1000 200 30695 122781 122781

158 cf&/fO{ ;/:jtL e~Hofª k|f=lj=%ft] 2487 zfGtf sGbª\jf d= k|fylds /fxt 2065.05.05 22170 0 22170 0 0 1000 23170 92680 92680

cf&/fO{ cf]v/jf]^] k|f=lj= %ft]('ª\uf 031001061 C /d]z lrdl/of k'= k|fylds c:yfoL t[tLo 22170 0 22170 1000 200 23370 93480 93480

160 cf&/fO{ cf]v/jf]^] k|f=lj= %ft]('ª\uf 031001061 C lnnfb]jL sGbªjf d= k|fylds /fxt 2059.07.31 22170 0 22170 0 0 1000 23170 92680 92680

cf&/fO{ gf}n] k|f=lj= %ft]('ª\uf 031001241 C b]a]Gb| d'f]Stfg k|fylds c:yfoL t[tLo 073.7.11 22170 22170 1000 23170 92680 92680

162 cf&/fO{ gf}n] k|f=lj= %ft]('ª\uf 031001241 C dfofb]jL af:sf]^f d= k|fylds /fxt 2063.10.17 22170 0 22170 0 0 1000 200 23370 93480 93480

cf&/fO{ zf/bf p=df=lj= r'xfg*f¤*f 031002481 S k|sfz vgfn k"= lg=df=lz= :yfoL t[tLo 2072.10.28 23500 0 1 783 24283 2428 200 1000 27911 111645 111645

164 cf&/fO{ zf/bf p=df=lj= r'xfg*f¤*f 031002481 S jL/]Gb| sGbª\jf k"= lg=df=lz= :yfoL låtLo 061.01.27 2072.6.1 30500 0 1 1017 31517 3152 200 1000 35869 143475 143475

165 cf&/fO{ zf/bf p=df=lj= r'xfg*f¤*f 031002481 S >L /Ddf yklnof d= lg=df=lz= c:yfoL t[tLo 053.05.11 23500 23500 0 0 1000 24500 98000 98000

166 cf&/fO{ zf/bf p=df=lj= r'xfg*f¤*f 031002481 S >L ljgf]b Gof}kfg] k"= lg=df=lz= c:yfoL t[tLo 2066.11.17 23500 23500 0 0 1000 24500 98000 98000

167 cf&/fO{ zf/bf p=df=lj= r'xfg*f¤*f 031002481 S l*NnLs'df/ sGbªjf k'= k|fylds :yfoL låtLo 2050.02.08 2068.08.05 23500 3 4 3132 26632 2663 200 1000 30495 121981 121981

168 cf&/fO{ zf/bf p=df=lj= r'xfg*f¤*f 031002481 S z+s/axfb'/ sGbª\jf k'= k|fylds :yfoL låtLo 2048.10.24 2068.08.05 23500 3 4 3132 26632 2663 200 1000 30495 121981 121981

169 cf&/fO{ zf/bf p=df=lj= r'xfg*f¤*f 031002481 S elQmk|;fb yklnof k'= k|fylds :yfoL låtLo 2050.05.15 2068.08.05 23500 3 4 3132 26632 2663 200 1000 30495 121981 121981

170 cf&/fO{ zf/bf p=df=lj= r'xfg*f+*f  031002481 S uf]ljGbk|;fb e)*F/L k'= k|fylds :yfoL t[tLo 2071.05.27 22170 1 2 1478 23648 2365 200 1000 27213 108851 108851

cf&/fO{ lzjw/ lg=df=lj= r'xfg*f¤*f 031001181 C ^Lsf/fd jf¤:sf]^f k"= lg=df=lz= :yfoL t[tLo 063.06.01 23500 2 3 2349 25849 2585 200 1000 29634 118536 118536

173 cf&/fO{ lzjw/ lg=df=lj= r'xfg*f¤*f 031001181 C >L uf]kfn >]i& k"= lg=df=lz= c:yfoL t[tLo 2067.07.23 23500 23500 0 0 1000 24500 98000 98000

174 cf&/fO{ lzjw/ lg=df=lj= r'xfg*f¤*f 031001181 C aL/ axfb'/ e'h]n k"= lg=df=lz= :yfoL t[tLo 2072.10.28 23500 0 1 783 24283 2428 200 1000 27911 111645 111645

175 cf&/fO{ lzjw/ lg=df=lj= r'xfg*f¤*f 031001181 C jL/axfb'/ df]Qmfg k'= k|fylds :yfoL låtLo 2048.04.01 2068.08.05 23500 3 4 3132 26632 2663 200 1000 30495 121981 121981

176 cf&/fO{ lzjw/ lg=df=lj= r'xfg*f¤*f 031001181 C lx/fnfn uxt] k'= k|fylds :yfoL låtLo 2063.06.01 2071.05.13 23500 1 2 1566 25066 2507 200 1000 300 29073 116290 116290

177 cf&/fO{ lzjw/ lg=df=lj= r'xfg*f¤*f 031001181 C l;tn a'(fyf]sL k'= k|fylds c:yfoL t[tLo 073.8.19 22170 0 22170 1000 23170 92680 92680

cf&/fO{ lzjw/ lg=df=lj= r'xfg*f¤*f 031001181 C ;fg'dfof l#l;+ d= k|fylds c:yfoL t[tLo 072.4.1 22170 0 22170 1000 23170 92680 92680

cf&/fO{ x+zjflxgL k|f=lj= r'xfg*f*f 031001091 C dx]zk|;fb dxtf] k'= k|fylds :yfoL t[tLo 2071.05.27 22170 1 2 1478 23648 2365 200 1000 27213 108851 108851

180 cf&/fO{ x+zjflxgL k|f=lj= r'xfg*f*f 031001091 C k")f{k|;fb yklnof k'= k|fylds :yfoL låtLo 2046.10.01 2068.08.05 23500 3 4 3132 26632 2663 200 1000 30495 121981 121981

181 cf&/fO{ x+zjflxgL k|f=lj= r'xfg*f*f 031001091 C >L t'n;L/fd af:sf]^f k'= k|fylds c:yfoL t[tLo 2061.02.18 22170 0 22170 0 0 1000 200 23370 93480 93480

cf&/fO{ ;"of]{bo lg=df=lj=r'xfg*f*f 031001121 C ka{t /fh *fuL k' lg=df=lz= /fxt 2071.11.1 23500 23500 0 0 1000 24500 98000 98000

183 cf&/fO{ ;"of]{bo lg=df=lj= r'xfg*f*f 031001121 C s'njxfb/ ;fpb]Daf k'= k|fylds :yfoL låtLo 2043.05.08 2068.08.05 23500 3 4 3132 26632 2663 200 1000 300 30795 123181 123181



186 cf&/fO{ ;"of]{bo lg=df=lj= r'xfg*f*f 031001121 C >L a]blglw af:sf]^f k'= k|fylds c:yfoL t[tLo 2063.08.01 22170 0 22170 0 0 1000 23170 92680 92680

187 cf&/fO{ ;"of]{bo lg=df=lj= r'xfg*f*f 031001121 C >L k')ok|;fb bfxfn k'= k|fylds c:yfoL t[tLo 2065.08.15 22170 0 22170 0 0 1000 23170 92680 92680

cf&/fO{ sflnsf k|f=lj= r'xfg*f*f 031001141 C k/z'/fd Gof}kfg] k'= k|fylds :yfoL låtLo 2050.05.01 2068.08.05 23500 3 4 3132 26632 2663 200 1000 200 30695 122781 122781

189 cf&/fO{ sflnsf k|f=lj= r'xfg*f+*f  031001141 C #gZofd ltaf/L k|fylds c:yfoL t[tLo 073.7.7 22170 22170 1000 23170 92680 92680

190 cf&/fO{ sflnsf k|f=lj= r'xfg*f*f 031001141 C >L lnnfb]jL s§]n d= k|fylds c:yfoL t[tLo 2053.01.03 22170 0 22170 0 0 1000 23170 92680 92680

cf&/fO{ eujtL k|f=lj= r'xfg*f+*f  031001071 C dx]Gb| ;+os k'= k|fylds :yfoL t[tLo 2071.05.27 22170 1 2 1478 23648 2365 200 1000 200 27413 109651 109651

192 cf&/fO{ eujtL k|f=lj= r'xfg*f+*f  031001071 C >L /Tg sGbªjf k'= k|fylds c:yfoL t[tLo 2066.12.08 22170 0 22170 0 0 1000 23170 92680 92680

eujtL k|f=lj= r'xfg*f+*f  
v]dgfy bgf{n k' k|fylds :yfoL t[tLo 2071.5.27 22170 1 2 1478 23648 2365 200 1000 200 27413 13606 13606

2074.4.25 df ;?jf -
afsL_

cf&/fO{ hnsGof k|f=lj= r'xfg*f+*f  031001221 C kz'{/fd ltjf/L k'= k|fylds c:yfoL t[tLo 2071.11.20 22170 0 22170 0 0 1000 23170 92680 92680

195 cf&/fO{ hnsGof k|f=lj= r'xfg*f+*f  031001221 C d~h' lg+n]s' d= k|fylds c:yfoL t[tLo 071.1.2 22170 0 22170 1000 23170 92680 92680

196 cf&/fO{ hnsGof k|f=lj= r'xfg*f*f 031001221 C rGb|k|;fb yklnof k'= k|fylds :yfoL t[tLo 2050.05.01 22170 3 4 2956 25126 2513 200 1000 200 29039 116154 116154

cf&/fO{ af}$k|ult k|f=lj= r'xfg*f*f 031001131 C >L cljrGb| l#l;é k'= k|fylds c:yfoL t[tLo 2062.09.14 22170 0 22170 0 0 1000 200 23370 93480 93480

198 cf&/fO{ af}$k|ult k|f=lj= r'xfg*f*f 031001131 C >L kf;fébf]h]{ of]Ghg k'= k|fylds c:yfoL t[tLo 2050.06.08 22170 0 22170 0 0 1000 23170 92680 92680

cf&/fO{ eujtL p=df=lj=yf]Sn'é 031001081 C s[i)fdf]xg ´f k"= lg=df=lz= :yfoL t[tLo 063.06.01 23500 2 3 2349 25849 2585 200 1000 29634 118536 118536

200 cf&/fO{ eujtL p=df=lj=yf]Sn'é 031001081 C t]hk|;fb uf}td k"= lg=df=lz= :yfoL låtLo 061.01.27 2072.3 30500 1 1 1017 31517 3152 200 1000 35869 143475 143475

201 cf&/fO{ eujtL p=df=lj=yf]Sn'é 031001081 C vu]Gb|k|;fb kf}*]n k"= lg=df=lz= :yfoL t[tLo 071.05.27 23500 1 2 1566 25066 2507 200 1000 28773 115090 115090

202 cf&/fO{ eujtL p=df=lj=yf]Sn'é 031001081 C rGb|Wjh /fO{ k"= lg=df=lz= :yfoL t[tLo 071.05.27 23500 1 2 1566 25066 2507 200 1000 28773 115090 115090

203 cf&/fO{ eujtL p=df=lj=yf]Sn'é 031001081 C e'kfn /fodfemL k"= lg=df=lz= :yfoL t[tLo 2072.10.28 23500 0 1 783 24283 2428 200 1000 27911 111645 111645

204 cf&/fO{ eujtL p=df=lj=yf]Sn'é 031001081 C ;'lgtf tfdf+u d= lg=df=lz= /fxt 2071.9.7 23500 23500 0 0 1000 24500 98000 98000

205 cf&/fO{ eujtL p=df=lj=yf]Sn'é 031001081 C pdfsfGt rDnfuFfO{ k'= k|fylds :yfoL låtLo 2050.05.01 2065.06.01 23500 2 3 2349 25849 2585 200 1000 29634 60256 60256 2074.10.02 df cjsf; 

207 cf&/fO{ eujtL p=df=lj=yf]Sn'é 031001081 C >L rGb|s'df/ #tfgL k'= k|fylds c:yfoL t[tLo 2054.06.14 22170 0 22170 0 0 1000 23170 92680 92680

208 cf&/fO{ eujtL p=df=lj=yf]Sn'é 031001081 C dfwjL Gof}kfg] uf}td d= k|fylds :yfoL låtLo 2060.10.28 2070.03.14 23500 2 3 2349 25849 2585 200 1000 0 29634 118536 118536

209 cf&/fO{ eujtL p=df=lj=yf]Sn'é 031001081 C sNkgf ly+nfa' d= k|fylds c:yfoL t[tLo 2074.05.16 22170 0 1000 23170 92680 92680

cf&/fO{ eujtL p=df=lj=yf]Sn'é 031001081 C ;Gtf]if vgfn k' k|fylds :yfoL t[tLo 2071.05.27 22170 1 2 1478 23648 2365 200 1000 27213 108851 108851

cf&/fO{ sflzgfy lg=df=lj= yf]Sn'ª 031001211 C Zofd;'Gb/k|;fb ofbj k"= lg=df=lz= :yfoL t[tLo 071.05.27 23500 1 2 1566 25066 2507 200 1000 28773 115090 115090

210 cf&/fO{ sf¤lzgfy lg=df=lj= yf]Sn'é 031001211 C >L /fdjfj' ofbj k"= lg=df=lz= c:yfoL t[tLo 051.12.17 23500 23500 0 0 1000 24500 98000 98000

212 cf&/fO{ sf¤lzgfy lg=df=lj= yf]Sn'é 031001211 C b]jLdfof¤ e'h]n d= k|fylds :yfoL låtLo 2050.05.01 2068.08.05 23500 3 4 3132 26632 2663 200 1000 300 30795 123181 123181

213 cf&/fO{ sf¤lzgfy lg=df=lj= yf]Sn'é 031001211 C dx]Gb|k|;fb pk|]tL k'= k|fylds :yfoL låtLo 2046.09.01 2068.08.05 23500 3 4 3132 26632 2663 200 1000 30495 121981 121981

214 cf&/fO{ sf¤lzgfy lg=df=lj= yf]Sn'é 031001211 C >L l*NnL/fd lnDa" k'= k|fylds c:yfoL t[tLo 2066.05.31 22170 0 22170 0 0 1000 23170 92680 92680

215 cf&/fO{ sf¤lzgfy lg=df=lj= yf]Sn'é 031001211 C lji)f's'df/ tfdfª k'= k|fylds /fxt 2068.08.19 22170 0 22170 0 0 1000 23170 92680 92680

216 cf&/fO{ sf¤lzgfy lg=df=lj= yf]Sn'é 031001211 C czf]s s'df/ ltlD;gf k'= lg=df=lz= c:yfoL t[tLo 2074.10.02 23500 0 23500 0 0 1000 24500 48207 48207 074 df# 2 df lgo'lSt

cf&/fO{ dx]Gb|f]bo k|f=lj=yf]Sn'é 031001191 C gGbs'df/ tfdfé k'= k|fylds :yfoL låtLo 2050.05.01 2068.08.05 23500 3 4 3132 26632 2663 200 1000 200 30695 122781 122781

217 cf&/fO{ dx]Gb|f]bo k|f=lj=yf]Sn'é 031001191 C >L dfgl;+ tfdfé k'= k|fylds c:yfoL t[tLo 2059.08.03 22170 0 22170 0 0 1000 23170 92680 92680

218 cf&/fO{ dx]Gb|f]bo k|f=lj=yf]Sn'é 031001191 C u+uf/fd e'h]n k'= k|fylds :yfoL t[tLo 2071.05.27 22170 1 2 1478 23648 2365 200 1000 27213 108851 108851

cf&/fO{ gfDhfé k|f=lj= yf]Sn'é 031002341 S vu]Gb| ljZjsdf{ k'= k|fylds :yfoL t[tLo 2071.05.27 22170 1 2 1478 23648 2365 200 1000 27213 48076 48076 2074.09.23 df ;?jf

220 cf&/fO{ gfDhfé k|f=lj= yf]Sn'é 031002341 S tf/fb]jL vltj*f d= k|fylds c:yfoL t[tLo 072.11.23 22170 0 22170 1000 200 23370 93480 93080 2074 df#af^ k|c
221 cf&/fO{ gfDhfé k|f=lj= yf]Sn'é 031002341 S >L ^°k|;fb pk|]tL k'= k|fylds c:yfoL t[tLo 2058.06.29 22170 0 22170 0 0 1000 23170 92680 92680

cf&/fO{ cfwf/e"t h= k|f=lj= yf]Sn'é 031001111 C uf]dfb]jL b+ufn d= k|fylds :yfoL låtLo 2063.06.01 2072.6.1 23500 1 2 1566 25066 2507 200 1000 28773 115090 115090

224 cf&/fO{ cfwf/e"t h= k|f=lj= yf]Sn'é 031001111 C g/klt rDnfufO{ k'= k|fylds :yfoL låtLo 2063.06.01 073.5.26 23500 2 2 1566 25066 2507 200 1000 200 28973 115890 115890

cf&/fO{ cfwf/e"t h= k|f=lj= yf]Sn'é 031001111 C kbd;'Gb/ sGbª\jf k'= k|fylds /fxt 2065.05.20 22170 0 22170 0 0 1000 23170 92680 92680

cf&/fO{ k~rsGof k|f=lj= yf]Sn'ª 031001161 C

227 cf&/fO{ k~rsGof k|f=lj= yf]Sn'ª 031001161 C >L pdfb]jL tfdfé uf]n] d= k|fylds c:yfoL t[tLo 2059.12.19 22170 0 22170 0 0 1000 23170 92680 92680

cf&/fO{ k~rsGof k|f=lj= yf]Sn'é 031001161 C >L ;f]dgfy nfld%fg] k'= k|fylds c:yfoL t[tLo 2054.11.06 22170 0 22170 0 0 1000 200 23370 93480 93480

cf&/fO{ ;/:jtL k|f=lj= yf]Sn'ª 031000761 C kbdf ;fksf]^f k'= k|fylds :yfoL t[tLo 2071.05.27 22170 1 2 1478 23648 2365 200 1000 200 27413 109651 109651

cf&/fO{ dx]Gb| p=df=lj= vfDnfn'é 35 /fhs'df/ /fd k"= lg=df=lz= :yfoL t[tLo 2072.10.28 23500 0 1 783 24283 2428 200 1000 27911 111645 111645

232 cf&/fO{ dx]Gb| p=df=lj= vfDnfn'é 35 >L O{Gb|k|;fb bfxfn k"= lg=df=lz= c:yfoL t[tLo 052.12.30 23500 23500 0 0 1000 24500 98000 98000

233 cf&/fO{ dx]Gb| p=df=lj= vfDnfn'é 35 >L eLdaxfb'/ lnDa" k"= lg=df=lz= c:yfoL t[tLo 059.09.10 23500 23500 0 0 1000 24500 98000 98000

234 cf&/fO{ dx]Gb| p=df=lj= vfDnfn'é 35 k]|ds'df/ xfª\>f]é k'= k|fylds :yfoL låtLo 2050.05.01 2068.08.05 23500 3 4 3132 26632 2663 200 1000 30495 121981 121981

235 cf&/fO{ dx]Gb| p=df=lj= vfDnfn'é 35 ofdgfy vgfn k'= k|fylds :yfoL låtLo 2050.05.01 2064.01.23 23500 3 4 3132 26632 2663 200 1000 30495 121981 121981

236 cf&/fO{ dx]Gb| p=df=lj= vfDnfn'é 35 >L dgdfof kflxd d= k|fylds c:yfoL t[tLo 2065.09.21 22170 0 22170 0 0 1000 23170 92680 92680

237 cf&/fO{ dx]Gb| p=df=lj= vfDnfn'é 35 ;[hgf nfdf d= k|fylds /fxt 2066.06.04 22170 0 22170 0 0 1000 23170 92680 92680

cf&/fO{ sflnsf lg=df=lj= vfDnfn'é 29 >L /fdgf/fo)f rf}w/L k"= lg=df=lz= c:yfoL t[tLo 051.08.08 23500 23500 0 0 1000 300 24800 99200 99200

239 cf&/fO{ sflnsf lg=df=lj= vfDnfn'é 29 >L &fs'/l;+x rf]ª\jfé k"= lg=df=lz= c:yfoL t[tLo 051.02.22 23500 23500 0 0 1000 24500 98000 98000



240 cf&/fO{ sflnsf lg=df=lj= vfDnfn'é 29 bdGtf lg/f}nf d= lg=df=lz= /fxt 2065.05.17 23500 23500 0 0 1000 24500 98000 98000

241 cf&/fO{ sflnsf lg=df=lj= vfDnfn'ª 29 /d]zs'df/ lnDa" k'= k|fylds :yfoL t[tLo 2071.05.27 22170 1 2 1478 23648 2365 200 1000 27213 108851 108851

242 cf&/fO{ sflnsf lg=df=lj= vfDnfn'é 29 >L nIdLk|;fb O:jf] k'= k|fylds c:yfoL t[tLo 2063.08.01 22170 0 22170 0 0 1000 23170 92680 92680

243 cf&/fO{ sflnsf lg=df=lj= vfDnfn'é 29 ;':df lnDa" d= k|fylds c:yfoL t[tLo 2073.10.27 22170 0 22170 0 0 1000 23170 92680 92680

cf&/fO{ sflnsf lg=df=lj= vfDnfn'é 29 >L dl/rdfg kflxd k'= k|fylds c:yfoL t[tLo 2058.10.19 22170 0 22170 0 0 1000 23170 92680 92680

244 cf&/fO{ sflnsf lg=df=lj= vfDnfn'é 29 c:yfoL t[tLo 0 0

cf&/fO{ ;fdyfé k|f=lj= vfDnfn'é 031000831 C cf]dgfy ltlD;gf k'= k|fylds :yfoL t[tLo 2050.05.01 22170 3 4 2956 25126 2513 200 1000 28839 115354 115354

246 cf&/fO{ ;fdyfé k|f=lj= vfDnfn'é 031000831 C >L nIdLb]jL ('ª\u]n d= k|fylds c:yfoL t[tLo 2064.05.20 22170 0 22170 0 0 1000 23170 92680 92680

247 cf&/fO{ ;fdyfé k|f=lj= vfDnfn'é 031000831 C >L eLdk|;fb vgfn k'= k|fylds c:yfoL t[tLo 2063.08.05 22170 0 22170 0 0 1000 200 23370 93480 93480

cf&/fO{ g[l;+x k|f=lj=  vfDnfn'é 25 lbg]zk|;fb sfkm\n] k'= k|fylds :yfoL låtLo 2063.06.01 2074.8.25 23500 3 2349 25849 2585 200 1000 200 29834 119336 95468 a('jf ePsf] 

cf&/fO{ g[l;+x k|f=lj=  vfDnfn'é 25 lbg]zk|;fb sfkm\n] k'= k|fylds :yfoL t[tLo 2063.06.01 22170 3 2217 24387 2439 200 1000 200 28226 112903 22580

249 cf&/fO{ g[l;+x k|f=lj=  vfDnfn'é 25 cf]ds'df/ cfrfo{ k'= k|fylds :yfoL låtLo 2050.08.21 2068.08.05 23500 3 4 3132 26632 2663 200 1000 30495 121981 121981

250 cf&/fO{ g[l;+x k|f=lj=  vfDnfn'é 25 ufoqf du/ k|fylds c:yfoL t[tLo 073.8.14 22170 22170 1000 23170 92680 92680

cf&/fO{ l;+xjflxgL lg=df=lj vfDnfn'é 031000721 C s[i)fk|;fb lg/f}nf k'= k|fylds :yfoL låtLo 2050.05.01 2070.03.14 23500 3 4 3132 26632 2663 200 1000 30495 121981 121981

252 cf&/fO{ l;+xjflxgL lg=df=lj vfDnfn'é 031000721 C s]zjs'df/ kflxd k'= k|fylds :yfoL t[tLo 2060.10.28 22170 3 4 2956 25126 2513 200 1000 300 29139 116554 116554

cf&/fO{ l;+xjflxgL lg=df=lj vfDnfn'é 031000721 C aGbgf l#ld/] d= k|fylds :yfoL t[tLo 2071.5.25 22170 1 2 1478 23648 2365 200 1000 27213 108851 31748
2074.4.1b]lv074.5.

5;Dd

cf&/fO{ l;+xjflxgL lg=df=lj vfDnfn'é 031000721 C of]udfof s^'jfn d= k|fylds c:yfoL t[tLo 2074.10.14 22170 0 22170 1000 23170 36300 36300
2074.10.14 df 

lgo'lSt
253 cf&/fO{ l;+xjflxgL lg=df=lj vfDnfn'é 031000721 C /fds'df/ lg/f}nf k'= k|fylds c:yfoL t[tLo 2074.04.06 22170 22170 1000 23170 92680 92680

cf&/fO{ hnsGof lg=df=lj vfDnfn'ª 031000911 C bof;fu/ ('+u]n k"= lg=df=lz= /fxt 2068.05.21 23500 23500 0 0 1000 24500 98000 98000

255 cf&/fO{ hnsGof lg=df=lj vfDnfn'ª 031000911 C dg'iff vfk'ª d= k|fylds c:yfoL t[tLo 2073.5.7 22170 0 22170 0 0 1000 23170 92680 92680

257 cf&/fO{ hnsGof lg=df=lj vfDnfn'ª 031000911 C k|sfzrGb| vgfn k'= k|fylds c:yfoL t[tLo 2074.04.25 22170 0 22170 0 0 1000 23170 92680 92680

cf&/fO{ hnsGof lg=df=lj= vfDnfn'é 031000911 C >L *f]n]Zj/ lu/L k'= k|fylds c:yfoL t[tLo 2048.08.01 22170 0 22170 0 0 1000 300 23470 93880 93880

cf&/fO{ gjHof]lt k|f=lj= vfDnfn'é 130 /fds'df/L dfjf]xf+ d= k|fylds c:yfoL t[tLo 2071.11.8 22170 0 22170 0 0 1000 23170 92680 92680

259 cf&/fO{ gjHof]lt k|f=lj= vfDnfn'ª 130 c:yfoL t[tLo 0 0

260 cf&/fO{ gjHof]lt k|f=lj= vfDnfn'é 130 >L lji)f'k|;fb lu/L k'= k|fylds c:yfoL t[tLo 2053.05.23 22170 0 22170 0 0 1000 200 23370 93480 93480

cf&/fO{ hgtf k|f=lj= vfDnfn'é 031001201 C eQms'df/ vfk'é k'= k|fylds :yfoL t[tLo 2050.05.01 22170 3 4 2956 25126 2513 200 1000 200 29039 116154 116154

262 cf&/fO{ hgtf k|f=lj= vfDnfn'é 031001201 C >L h]ljGb| rf]ª\jfé k'= k|fylds c:yfoL t[tLo 2054.11.22 22170 0 22170 0 0 1000 23170 92680 92680

263 cf&/fO{ hgtf k|f=lj= vfDnfn'é 031001201 C jL/axfb'/ r]ªjfª k'= k|fylds /fxt 2068.11.18 22170 0 22170 0 0 1000 23170 92680 92680

238 cf&/fO{ hgtf k|f=lj= vfDnfn'é 031001201 C zDe' bfxfn k'= k|fylds c:yfoL t[tLo 2071.11.8 22170 0 22170 0 0 1000 23170 92680 92680

cf&/fO{ j'$ k|f=lj= vfDnfn'ª 031000981 C lzj/fh xfª;|f]ª k' k|fylds c:yfoL t[tLo 2072.7.10 22170 0 22170 1000 23170 92680 92680

266 cf&/fO{ j'$ k|f=lj= vfDnfn'ª 031000981 C ;'idf rf]ªjfª d= k|fylds /fxt 2063.10.21 22170 0 22170 0 0 1000 200 23370 93480 93480

cf&/fO{ h'/] k|f=lj= vfDnfn'ª 031001021 C ?b|s'df/ kmf]Daf] k'= k|fylds :yfoL t[tLo 2071.05.27 22170 1 2 1478 23648 2365 200 1000 200 27413 109651 109651

268 cf&/fO{ h'/] k|f=lj= vfDnfn'ª 031001021 C lzjz+s/ zfx k'= k|fylds :yfoL t[tLo 2071.05.27 22170 1 2 1478 23648 2365 200 1000 27213 76394 76394 2074.10.25 df ;?jf


